15500054

T OP SKYY

Special Warnings

@ Keep your furniture out of direct sunlight. Please use desk pads and coasters to protect
the surface from dents, scratches, and moisture from hot or cold liquids.

@ For cleaning, wipe the surface with a damp (not wet) cloth or wipe dry with a clean lint
free cotton cloth. Window cleaning liquid or a similar cleaning liquid can be used to
clean glass surface.

Operation Instructions

@ Please check that all parts are present before you start the assembly of your furniture.
For the protection of your furniture, place all parts on a clean and smooth surface to
prevent any damage.

@ Please periodically check all fitting and re-tighten as necessary.

@ Please assemble the table by 2 persons or more.

@ Do NOT over tighten hardware.




15500054 P.2

/\ i/z\i f/3 \w

\_ N >/ 4 o

O AXEXEXO
RN
SRR

Q

LD
XX Y
\ ”\\
N’“‘\
X0
A0

» \

}ps‘“\‘\
i“»\“
Q)

X 2

X 2 x 8§ | 14" X 2

—
N/l

X 2




~ TS500054 P.3

A M6x12 B M6x25 C Mb5x40 E ©15x12 F M4x20
8
= - lig
16 PCS 6 PCS 10 PCS 8 PCS 4 PCS
G M4x128 H | M3x12 J At
/% ﬁ %/
7
2 PCS 1 PCS 2 PCS 2 PCS 1 PCS 1 PCS

M5X42 | M6x42 mm

Our video focuses on showing how to assemble the cabinet by one person, so the

assembly steps will be different from the steps on instructions. Sorry for the inconveniences
caused.

*You can check the installation guide from this YouTube video:
https://lyoutu.be/2x-33nDjVtg

Or scan this QR code to check the video.

*About how to use, you can see YouTube video
https:/lyoutu.be/apCplp2w6h0
You can also scan the QR code to check it:

15500054 USE




15500054 P.4

A M6x12

000

A M6x12




15500054

P.5

W
\‘

KR
S
‘s‘s \‘

K
XXX
KRR
X {"\““:““\’—"“‘
XR

&

)

i
D4
DR OO
AR

B M6x25

-
-
-
° -
-
-
-
-
-
-
-
-
-
- -
- -
- <
- >
- >
- -
o -
- -
- -
- -
-
-
-
-
-
-
-
-
-
-
s
—— -

ye -
/
| | N

C Mb5x40

q

(e

X2




15500054

P.6

X2

E @15x12

4 PCS
G M4x128
2 PCS 1 PCS
H




15500054

P.7

D Mb5x42 E @15x12
4 PCS

F M4x20 G M4x128
2 PCS 1 PCS

RS
(‘ ‘
{‘:‘s“z‘!
‘““q
X X

4

L~

N A AN AN AN AN A SN AN AN AN AN AN AN AN NI AN 4




15500054

P.8






